normalized X?

[ normalized x? probability |

_ch2 __| |___chi2 prob |
Entries 49600 0.14 Entries 49600
107Y Mean 1.435 . Mean 0.479
Std Dev 1.995 Std Dev 0.3268
: hi. 0.12 PR
2 +_[Entes 78623 Entries 78623
10 Mean 1.434 N Mean 0.4787
1.987 | 0.1F--- H

Std Dev
0.08
0.06

0.04

Std Dev 0.326:

0 2 4 6 810121416‘1820

1

< x2/ndf >

== DQM_V0001_R000000001__Global__mkFitbasel__RECO

=== DQM_V0001_R000000001__Global__mkFitbase2_ RECO

o
T
@
A A
5 5
j=4 =
=< <
\" \"
£ k=]
3 T
@ @
101 1 10 102 (0 107 1072 107t
pl AR(track, ]et?




	Contents
	Page 1


